Gas Rotisserie Oven

MODEL DRG-40

Service Manual
Serial Numbers 120170 and Higher

) H‘" \é'lu_.n ‘J

Fresh ideas in foodservice equipment

CS-TM-022.01 Revised 3/26/13



BKI LIMITED WARRANTY
2812 Grandview Dr. * Simpsonville, SC 29680 - USA

(864) 963-3471 » Toll Free: (800) 927-6887  Fax: (864) 963-5316

WHAT IS COVERED

WHO IS COVERED

COVERAGE PERIOD

WARRANTY COVERAGE

EXCEPTIONS

EXCLUSIONS

INSTALLATION

REPLACEMENT PARTS

CS-TM-022.01

This warranty covers defects in material and workmanship under normal use, and applies
only to the original purchaser providing that:

The equipment has not been accidentally or intentionally damaged, altered or misused;
The equipment is properly installed, adjusted, operated and maintained in accordance
with national and local codes, and in accordance with the installation and operating
instructions provided with this product.

The serial number rating plate affixed to the equipment has not been defaced or
removed.

This warranty is extended to the original purchaser and applies only to
equipment purchased for use in the U.S.A.

(5] Warranty claims must be received in writing by BKI within one (1) year from
date of installation or within one (1) year and three (3) months from data of
shipment from the factory, whichever comes first.

[¢s] COB Models: One (1) Year limited parts and labor.

COM Models: Two (2) Year limited parts and labor. COM convection ovens also have
a two (2) year door warranty.

[¢] CO1 Models: Two (2) Year limited parts and labor. Five (5) Year limited door
warranty.

BevLes Products: Two (2) Year limited parts and labor.

[l Warranty period begins the date of dealer invoice to customer or ninety (90) days
after shipment date from BKI, whichever comes first.

This warranty covers on-site labor, parts and reasonable travel time and travel
expenses of the authorized service representative up to (100) miles round trip and (2)
hours travel time and performed during regular, weekday business hours.

Any exceptions must be pre-approved in advance and in writing by BKI. The
extended door warranty on convection ovens years 3 through 5 is a parts only warranty and
does not include labor, travel, mileage or any other charges.

Negligence or acts of God,
Thermostat calibrations after (30) days from equipment installation date,
Air and gas adjustments,
Light bulbs,
Glass doors and door adjustments,
Fuses,
Adjustments to burner flames and cleaning of pilot burners,
(g Tightening of screws or fasteners,
Failures caused by erratic voltages or gas suppliers,
Unauthorized repair by anyone other than a BKI Factory Authorized Service Center,
[es Damage in shipment,
Alteration, misuse or improper installation,
Thermostats and safety valves with broken capillary tubes,
(g Freight - other than normal UPS charges,
(g Ordinary wear and tear,
Failure to follow installation and/or operating instructions,
[g] Events beyond control of the company.

Leveling, as well as proper installation and check out of all new equipment -
per appropriate installation and use materials — is the responsibility of the dealer or
installer, not the manufacturer.

BKI genuine Factory OEM parts receive a (90) day materials warranty effective from the
date of installation by a BKI Factory Authorized Service Center.

Revised 3/26/13



Gas Rotisserie Oven Table of Contents

Table of Contents

JLIE LT (= o3 0o 1 =T 3 P 1
oY LW o2 4 Lo ) o R PRPRPRPRPNY 2
SaAfEtY PrECAULIONS. ... ettt e e bt e e e b b et e e e b bt e e e e aa b et e e e e be e e e e abae e e e nreeeeaa 2
Safety SigNS @NA MESSAUES ..ot e et e e e e e b e e e e e e e e b e e e e nre e e e 2

S T= Y LA Ko 4 Qo = o 1 =TSP 3

RS T= =T Y = o1 USSR 6

L =3 1 1 1P Lo o 8
Inspection for ShIPPING DAMEAGE .......coiiiiiiiie i e e e st e e e e e bb e e e e abte e e e enreeeeanbeeeeenreas 8
[T oL = 11 To] o NP PPPUPPRPPINE 8
(oTor= 11 (o] Tr=Ta o @A [=Y= 1= 1o Lo - N 9
INStallation ProCeAUIE .........coo oo 9
Gas CoNVEISION INSIFUCHIONS .......uuiiiiiiiiiiiiiiiiii ettt e e aaaaaaaaaaaastsbsassassssssssssssssssssnsssnnnssnnssnnsnnnnnnnns 10

[ Y o] F= 1o =Y 1 4= L e T (3 PRPRPRNY 1
ASSEMDIIES .. 11
Accessories & COMPONENLES ......coooiiiiiii i 25

LA LT T T =T T T = 27
N 0 o 1= T G 31
o =TSRRI 32




Gas Rotisserie Oven Introduction

Introduction

Your DRG-40 is a computer controlled gas fired rotisserie oven. It utilizes a double revolving rotor system to
ensure even product cooking. The unit contains a single stage cook and hold computer with 5 customizable cook
programs. Electrical controls are provided for powering the unit, turning on inside lights, igniting upper/lower
burners, turning the rotors, filling the water bath and resetting the unit. A manual lever is supplied for draining
water from the water bath. The rotor system is removable to allow for easy maintenance and cleaning.

The BKI name and trademark on this unit assures you of the finest in design and engineering -- that it has been
built with care and dedication -- using the best materials available. Attention to the operating instructions
regarding proper installation, operation, and maintenance will result in long lasting dependability to ensure the
highest profitable return on your investment.

NOTICE PLEASE READ THIS ENTIRE MANUAL BEFORE OPERATING THE UNIT. If you have

any questions, please contact your BKI Distributor. If they are unable to answer your
questions, contact the BKI Technical Service Department, toll free: 1-800-927-6887.
Outside the U.S., call 1-864-963-3471.

Safety Precautions

Always follow recommended safety precautions listed in this manual. Below is the safety alert symbol. When you
see this symbol on your equipment, be alert to the potential for personal injury or property damage.

Safety Signs and Messages

The following Safety sighs and messages are placed in this manual to provide instructions and identify specific
areas where potential hazards exist and special precautions should be taken. Know and understand the meaning
of these instructions, signs, and messages. Damage to the equipment, death or serious injury to you or other
persons may result if these messages are not followed.

ADANGER This message indicates an imminently hazardous situation which, if not avoided, will

result in death or serious injury.

_ This message indicates a potentially hazardous situation, which, if not avoided, could
result in death or serious injury.

ACAUT'ON This message indicates a potentially hazardous situation, which, if not avoided, may
result in minor or moderate injury. It may also be used to alert against unsafe practices.

NOTICE This message is used when special information, instructions or identification are required

relating to procedures, equipment, tools, capacities and other special data.




Gas Rotisserie Oven Introduction

Safe Work Practices

Wear Safe Clothing Appropriate To Your Job

' Always wear your insulated mitts when handling hot racks or touching any hot metal
surface. If you lose or damage your mitts, you can buy new ones at your local

restaurant equipment supply store or from your local BKI Distributor.

Always wear non-skid shoes when working around the oven or any other
equipment.

Never wear loose clothing such as neckties or scarves while operating this
equipment. Keep loose hair tied back or in a hair net while operating this
equipment.

Always wear appropriate personal protection equipment during the cleaning
process to guard against possible injury from hot cleaning solution.

[ ] Beware of High Voltage

This equipment uses high voltage. Serious injury can occur if you or any untrained
or unauthorized person installs, services, or repairs this equipment. Always Use an
Authorized Service agent to Service Your Equipment.

Keep this manual with the Equipment

This manual is an important part of your equipment. Always keep it near for easy
access. If you need to replace this manual, contact:

BKI

Technical Services Department

2812 Grandview Drive
Simpsonville, S.C. 29680

Or call toll free: 1-800-927-6887
Outside the U.S., call 864-963-3471

@ Protect Children

Keep children away from this equipment. Children may not understand that this

W % equipment is dangerous for them and others.
% NEVER allow children to play near or operate your equipment.




Gas Rotisserie Oven

Introduction

911

Keep Safety Labels Clean and in Good Condition

Do not remove or cover any safety labels on your equipment. Keep all safety labels
clean and in good condition. Replace any damaged or missing safety labels. Refer
to the Safety Labels section for illustration and location of safety labels on this unit.
If you need a new safety label, obtain the number of the specific label illustrated on
page 6, then contact:

BKI

Technical Services Department
2812 Grandview Drive
Simpsonville, S.C. 29680

Or call toll free: 1-800-927-6887

Outside the U.S., call 864-963-3471

Be Prepared for Emergencies
Be prepared for fires, injuries, or other emergencies.

Keep a first aid kit and a fire extinguisher near the equipment. You must use a 40-
pound Type BC fire extinguisher and keep it within 25 feet of your equipment.

Keep emergency numbers for doctors, ambulance services, hospitals, and the fire
department near your telephone.

Know your responsibilities as an Employer

e Make certain your employees know how to operate the equipment.

e Make certain your employees are aware of the safety precautions on the
equipment and in this manual.

e Make certain that you have thoroughly trained your employees about operating
the equipment safely.

e Make certain the equipment is in proper working condition. If you make
unauthorized modifications to the equipment, you will reduce the function and
safety of the equipment.

Use Gas Safely-- Avoid Danger

Gas can be a dangerous fuel if not handled safely.

Make sure to ventilate the oven properly. If the oven is not properly ventilated,
carbon monoxide can be released around the oven. Asphyxiation or suffocation can
occur if gas is not ventilated properly.

Before using this appliance for the first time, contact your local gas supplier for
instructions about what to do if you smell gas. Post those instructions somewhere
near the oven, so that everyone who uses or works near the oven knows what to do
if they smell gas.

Clearance to Combustibles

Observe proper clearance to combustibles as noted on the oven rating tag. Never
place anything on top of the oven. The flues on top of the oven should be a
minimum horizontal distance of 6 inches from any combustible material. Never
place any combustible materials above the top of the oven. Never use any solvents
near the oven. The open flame inside the oven could ignite solvent fumes, resulting
in a fire or explosion.




Gas Rotisserie Oven Introduction

Do Not Smoke Near The Oven

This oven uses combustible fuels to operate. Smoking near this oven could possibly
cause a fire. Do not allow anyone to smoke near this oven.




Gas Rotisserie Oven Introduction
Safety Labels
MO202 (0K SIDE COVERS) MNO1EE
“x /1 DANGER A CAUTION
HIGH VOLTAGE.
- T.:,m Do not use harsh cleaners
hmmm when cleaning this umit.
s Do rol cowr of memove M fbel
rms —— =
MOS0

M 53

MAWARNING

Improger instollotion, adjetment, altecation, sefics
o fmaintenonce ¢an Sduss propaerly damogs, inlury
or death.  Reod the iratollotion, opsrating ond
mointenonce inatructions thoroughly befors
instalfing or servdcing this squipment.

a0 )

MO02 (DM SIDE COVERS)

A, DANGER

/A WARNING
CONNECT CREY TO APPROYED 5
PROMG GROUNDED €IRCUMT. FAILURE
TO DO 50 COULD RESLULT [N SERROFS
IHJLIAY,

AWARNING
COMMECT CINLY TO APFROVED 3
PRONG GROUNDED CERCLNT. FAILURE
OO0 50 COULD RESULT 4 SERIOUS
INJURE

DO NOT COVER OR REMOVE THIS LABEL  :mi=

A NOTICE

Thia applionce is supplied
wlth cggltara and 15% ba
mounted anly an the
costers offixed to the
machine. Thla applionce
miuat be Instollad with a
connector cm'll:ﬂn'a'l with
ANSI 721,68 (CA &0
MBE) and a gquick
disconnest device
cl:rmpi:.dna with AMNSI
Z21.41 (CAN 1 6.8 W79).
It must alse be installed
with restraining means o
guard agalnzt tranesmission
of sbtrain to the connaector
oz specified in the
applionce manufocturer's
mstructions.




Gas Rotisserie Oven Introduction

1. Tura the mals POFER switeh On. Frem eold, the eontreller will displey "tes Ceal®,

Batter la comtact “alimsntation FRINGIPALE™ so sarche. Du frold, 1l coatrdlsur
ssatrerd 1a "tos Coal”

2. Prean the ITEM BELECT butten to welsst the desirsd pregran.

dppuyer wur le basuten CHOISI 4'ARTICLE pour cholair 1s programas désird.
3. Tura the ROTOR welteh On.

Hetter lo comautatesr de ROTOR #m marchs.

4, Twen The LOWER FLANE switeh On.
Hettex ls cosmatatenr INFERTEUR da FLAMME &5 marchs.

5. Tern the WEAT switch On,
Hsttez 1o commutatsar de 1a CHALEUR en murche,

8. Unlt wlll pre-heat. When it reachss the pregressed tesperatwrs, the cemtraller will
display “rEdy".
L'wnitié prichauffera. Ouand wlls stteint la tespirsturs progressis, Ls contrdleer
senirara 1o “rldy".

7. Open tha dasrs and Lload prodoct. Cless the desrs eace predeci la Jeaded,
Appuyes wur Lo bouwton CHOINI d'ARTICLE powr chalair le prograsse déaird.

8. Presm the BTART/STOF bwtton te start the cook cyels.
Appuyst sgr 1 bouten D DEBUT ET DE FIN pesr conssncer 1s cycls de culsisier.
B, When the ceok cycls ends, press tha START/ BTGP or the BALD batten.
Ouand lew fiss dw cyels ds ewisisies, appulent ser 1s bosten DE DEBUT ET DE FIM
o de FRIBE.
F = INT UPTION

1. Turs HEAT and LOWER FLANE switch off. Opea doors and allow omit te cecl for § sinutes.
Tomwrnar Lo CHALEER ot ABAISRBEI la comsutatasr ds FLABNE su ledn. Quvesz les portes ot
parsattar & 1'unitd de se refroldir pendent § sdsutes

2. Turn LIGHTS, ROTOR amd RAIN POWER ewitches eff.

Arrdten lan cantscts de

LUMIENER, de ROTOA #t ‘alimawtatd

OU DE PUISSANCE

Tha nvIn will shut off automatically if the gas supply or slectrical
war is interrupted. If, sither of thess conditiona sccur you shoul:
rform the following procedurse:

Le four coupera automatiquemsnt sl 1l'offrs de gaz ou ls courant

ilnet:i us eat intarr . !ié 1'uns ou 1'autrs de ces conditions

e pr ﬂinqnt vous devriez exécuter le proc sulvant :

1. Place the PONER, HEAT, LOWER FLAME, LIGHTE and ROTOR wwitchaes
{located om the Troat passl) in the "BFF° positien.
Placer la PUTBRAKCE, la CHALEUS, les consutateurs INFERTEURE de FLANNE, ds LUMIERES
at de ROTOR (ediwks sur 1o pannsss plan)] danm 1s “OFF* | places.

2. Walt st leaat five mninetes 1o allow any ges thet may Bave sccusulated in the burner
compartment to secape.

Attents au maing minutes pour parasttre tout gaz qui & pu a'dtrs sccurmlé dane
1a easpartissnt da brilesr pour a'dohappar,

3. Fellsw neraal operating precedures snce alsctricel pawer or gan la Festsred.
l:tun u:ta:r epfratolres nermasn wne Tols que 18 cowrant dlectriges su 1e gap
Ly ] .




Gas Rotisserie Oven Installation

Installation

Inspection for Shipping Damage

It is the owners’ responsibility to file all freight claims with the delivering truck line. Inspect all cartons and crates
for damage as soon as they arrive. If damage to cartons or crates is found, or if a shortage is found, note this on
the bill of lading (all copies) prior to signing.

If damage is found when the equipment is opened, immediately call the delivering truck line and follow up the call
with a written report indicating concealed damage to your shipment. Ask for an immediate inspection of your
concealed damage item. Packaging material MUST be retained to show the inspector from the truck line.

Preparation
There are several things the installer must know before installing the oven. These are listed below:

NOTICE When using natural gas, the supply pressure must never drop below 7 inches of water

column. If the supply pressure can exceed 14 inches of water column, a pressure
regulator must be used. This regulator must be sized to ensure that the pressure never
goes below 7 inches of water column while the unit is in operation.

e The oven installation must conform with city or county standards for gas appliances and gas piping. If
your area does not have local codes, consult the National Fuel Gas Code, ANSI Z223.1/NFPA 54, or the
Natural Gas and Propane Installation Code, CSA B149.1. In Europe, city and country codes are enforced.

_ Do not attempt to test the gas pressure of your oven. Pressure testing should be done
only by an authorized Service Agent.

o During any pressure testing of the gas supply system, the oven must be protected. The oven and its
individual shutoff valve must be disconnected from the gas supply piping system during any pressure
testing of that system at test pressures in excess of %2 psi (3.5 kPa). The oven must be isolated from the
gas supply piping system by closing its individual manual shutoff valve during any pressure testing of the
gas supply piping system at test pressures equal to or less than %z psi (3.5 kPa).

e The oven must be electrically grounded to conform with the local code of your city or county. If your area
does not have local codes, consult the latest version of the National Electrical Code ANSI/NFPA 70, or
the Canadian Electrical Code, CSA C22.2. In EUROPE, city and country codes are enforced.

e A schematic diagram of the unit is located inside the control cabinet.

e The Authorized Service Agent that installs your oven must connect the cord set at the rear of the oven to
an electrical source with a voltage matching that stamped on the name and rating tag. Refer to the wiring

diagrams in this manual.

o Make sure a connector is used that complies with the Standard for Connectors for Movable Gas
Appliances, ANSI Z21.69 + CSA 6.16.

e Make sure a quick-disconnect device is used that complies with the Standard for Quick-Disconnect
Devices for Use With Gas Fuel, ANSI Z21.41 + CSA 6.9.

e In Europe, the installer must supply the gas supply connector.




Gas Rotisserie Oven Installation

o Make sure a restraining device is used that complies with the Standard for Commercial Gas Ranges,
ANSI Z83.11/CGA 1.8 (such as BKI part number FT0279) to guard against transmission of strain to the
connector.

e The drain on the DRG-40 is a %” ball valve. Under NO circumstances, should this valve be hard plumbed
to a drain line. A short nipple may be used to direct the discharge into a 2” drain that should have a bell
reducer (to act as a funnel) placed on the end of drain line. The best configuration is to place this bell
reducer just below the valve. Using a %” line to come out from under the oven is not recommended, as it
would be easy to plug up.

e Retain the manual for future reference.

Location and Clearance

Install your oven in a well-ventilated area. This will ensure that the gas burns properly and will help prevent any
fires. When deciding on a location, remember the following:

e All gas-burning appliances need enough fresh air for combustion.

e Locate the oven where it can be vented into an adequate exhaust hood. Your local gas utility must
approve your ventilation system. Consult a ventilation or heating company to help you design an
adequate system that meets ventilation codes and standards for your city or county. In Europe, install
according to local codes.

o Keep the oven away from any combustibles such as curtains, wood paneling, boxes, or towels. The flue
riser at the top of the oven should also be kept away from any flammable material.

e Observe proper clearance to combustibles as noted on the oven rating tag. Never place anything on top
of the oven. The flues on top of the oven should be a minimum horizontal distance of 6 inches from any
combustible material. Never place any combustible materials above the top of the oven. Never use any
solvents near the oven. The open flame inside the oven could ignite solvent fumes, resulting in a fire or
explosion.

o Keep the work area around the oven free of objects that might block fresh air or that might cause a fire.
e Do not attach an extension to the exhaust stack. This may stop the burner from operating properly, cause
the burner to go off, or, cause other dangerous malfunctions. It may also cause a strong draft in the room.

A draft can interfere with the burner.

e Do not locate the oven near strong drafts. Keep the oven away from doors that are opened and closed
frequently.

Installation Procedure
_ Ensure that an authorized BKI service agent installs the oven. An authorized BKI service
agent should be a qualified gas service technician and a licensed electrician.

ADANGER Failure to restrain the oven could allow it to move, causing a possible break in the gas

line resulting in an explosive condition.

1. Install an ANSI Z83.11/CGA 1.8 compliant restraining device (such as BKI part number FT0279) per the
instructions below:

a. Mount the wall attachment according the restraining device manufacturer instructions.

b. If possible, loop one end of the restraining cable around one of the rear legs and attach the
spring-loaded hook to the cable then attach the other spring-loaded hook to the wall attachment.

9



Gas Rotisserie Oven Installation

If you are unable to do this, drill a small %4” hole through the back flange of the shelf, then follow
the restraining device manufacturer instructions to finish the installation.

_ Use appliance connectors and quick-disconnect devices that are in compliance with the
applicable ANSI and CSA standards.
2. Attach an appliance connector to the oven according to the instructions provided by the appliance

connector manufacturer.

3. Connect the gas supply to the oven. In Europe, the gas supplier must provide the gas hookup connecting
line.

4. Lock the casters so the oven does not move. Every time you use the oven, make sure the casters are
locked so the oven cannot move. (In Canada: refer to caster codes CAN 1-6.10 M88 and CAN 1-6.9
M79.)

5. Turn on the gas at the gas supply valve.

6. Check for gas leaks from the gas supply to the oven gas valve using a soap and water solution. If a leak
is detected, tighten the connection where the leak occurs.

7. Connect the three-prong (grounded) plug directly into a properly grounded three-prong receptacle.
8. Apply power to the oven.

9. Perform the following procedures provided in the Startup and Checkout section of the VR8105, VR8205,
and VR8305 Direct Ignition Combination Gas Controls Installation Instructions (69-1226-2). Refer to

Appendix A.

e Perform Gas Leak Test

e Turn On System

e Turn On Main Burner

o Check and Adjust Gas Input Burner Ignition (for Standard model Pressure Regulator)

10. Place the HEAT switch, LOWER FLAME switch, and LIGHTS switch in the “OFF” position.
11. Wait at least five minutes to allow oven to cool.

12. Place the POWER switch and ROTOR switch in the “OFF” position.

Gas Conversion Instructions

To convert the gas system from a Natural Gas to LP Gas application or vice versa, contact the BKI Technical
Service Department, toll free: 1-800-927-6887. Outside the U.S., call 1-864-963-3471.

10



Gas Rotisserie Oven

Replacement Parts

Replacement Parts

Use the information in this section to identify replacement parts. To order replacement parts, call your local BKI

sales and service representative. Before calling, please note the serial number on the rating tag affixed to the unit.

Assemblies
Description Assembly # Figure # Table #
CONTROL PANEL AN44022900 Figure 1 Table 1
THERMOCOUPLE AA44012400 Figure 2 Table 2
UPPER GAS PIPING AB44001100 Figure 3 Table 3
DUAL PASSIVE ROTOR AB44106400 Figure 4 Table 4
SINGLE/DUAL DRIVE ROTOR AB44106500 Figure 5 Table 5
SINGLE PASSIVE ROTOR AB44015500 Figure 6 Table 6
JACKSHAFT AB44107500 Figure 7 Table 7
DRIVE SIDE DOOR AB44107800 Figure 8 Table 8
PASSIVE SIDE DOOR AB44108300 Figure 9 Table 9
WATER PIPE AN44013500 Figure 10 Table 10

11




Replacement Parts

Gas Rotisserie Oven

Figure 1. Control Panel (AN44022900)

12



Gas Rotisserie Oven

Replacement Parts

Table 1. Control Panel (AN44022900) Parts

ITEM # PART # QTY DESCRIPTION
1 AB44007200 1 TERM BLOCK ASSY DRG
2 CB0058 1 BREAKER, CIRCUIT 1 AMP 250V
3 CP0022 1 CONTROLLER, DIGT TEMP/TIME
4 CS0005 1 CORD SET, 115V 7'6"
5 F0097 2 FUSE, 15A 300V SC15 TIME DELAY
6 FHO001 2 FUSE HOLDER, 15A 300V HPF-EE
7 S0304 5 SWITCH, 2 POS OPERATOR BLK
8 S0307 6 SWITCH, NO BLOCK GE P9B10VN
9 S0308 1 SWITCH, NO/NC BLOCK GE 9PB11VN
10 S0309 1 SWITCH, MUSHROOM PUSH BLACK
11 S0339 2 SWITCH, CONTACT BLOCK 2 NO
12 S0340 1 SWITCH, PUSH BUTTON BLUE RECESSED
13 TF0005 2 TRANSFORMER, 120-24V LGF
14 TF0045 1 TRANSFORMER, 230/115 PRI 175VA
15 AB44023800 1 TERM BLOCK ASSY NEUTRAL LINES DRG40

13



Gas Rotisserie Oven Replacement Parts

Figure 2. Thermocouple (AA44012400)

Table 2. Thermocouple (AA44012400) Parts

ITEM # PART # QTY DESCRIPTION
FO0173 1 FERRITE BEAD
T0020 0.25 TUBING, HEAT SHRINK 1/4 PLASTIC
T0085 1 THERMOCOUPLE, TYPE K T-2016
TUQ0O012 0.25 TUBING, RED SILICONE SRT-110

14




Gas Rotisserie Oven

Replacement Parts

Figure 3. Upper Gas Piping (AB44001100)

Table 3. Upper Gas Piping (AB44001100) Parts

ITEM # PART # QTY DESCRIPTION
1 C0739 1 VALVE, GAS VR8205A2123
2 FB44007109 2 GAS VALVE MOUNT DRG
3 FT0521 2 REDUCER, TUBE END 1/2-3/8
4 FT0522 1 TEE, MALE BRANCH 1/2-1/2-1/2
5 FT0523 1 CONNECTOR, MALE 1/2 NPT-1/2 COMPRESS
6 SCR280 4 SCREW, 8-32 X 3/8 PHIL TRUSS
7 T0008* 1 THERMOSTAT, HI LIMIT 572|F
8 AN44116100* 3 SURGE SUPPRESSOR (ONE USED ON
EACH IGNITION MODULE)
9 MB44115400* 2 IGNITION/SENSE PROBE

* - These components are not part of the Upper Gas Piping Assembly (AB44001100) but are shown here for reference only.

15




Gas Rotisserie Oven Replacement Parts

Figure 4. Dual Passive Rotor (AB44106400)

5 B

SEE DETAIL

SECTION  AA
5
T
DETAIL  GEAR
SCALE 0750
Table 4. Dual Passive Rotor (AB44106400) Parts
ITEM # PART # QTY DESCRIPTION
1 WSH093 24 WASHER, #10 LOCK
2 SCR383 24 SCREW, 10-24 X 1/2" PHIL TRUSS HD
3 WSH260 2 WASHER, 5/16 S/S LOCKWASHER
4 SCR384 2 SCREW, 5/16-18 X 1/2 S/S HEX
5 B0241 8 BEARING, .751D X 1. 0D .813 L
6 HO0106 1 HUB, PASSIVE DUAL DRG
7 HO0067 8 HUB, PLANETARY GEAR 951
8 NUT131 24 NUT, 10-24 SS 18-8 HEX
9 G0103 8 GEAR, PLANETARY(5) 6 DIA PITCH
10 FT0366 8 RETAINING RING, PLANETARY GEAR
11 RO0027 1 ROTOR, 23" DIA. ACTIVE DRG40
12 FT0367 8 SHIM, PLANETARY GEAR DR34
13 WSH256 8 WASHER, THRUST .765ID X 1.250D
14 WSH257 8 WASHER, THRUST .765ID X 1.250D

16



Gas Rotisserie Oven Replacement Parts

Figure 5. Single/Dual Drive Rotor (AB44106500)

(e

SEE DETAIL

GECTION A

DETAIL  GEAR
SCALE 0750

Table 5. Single/Dual Drive Rotor (AB44106500) Parts

ITEM # PART # QTY DESCRIPTION
1 WSH093 24 WASHER, #10 LOCK
2 SCR383 24 SCREW, 10-24 X 1/2" PHIL TRUSS HD
3 WSH260 2 WASHER, 5/16 S/S LOCKWASHER
4 SCR399 2 SCREW, 5/16-18 X 3/4 HEX HD
5 B0241 8 BEARING, .751D X 1. 0D .813 L
6 MC0054 1 DRIVE COUPLING, MALE DRG40
7 HO0104 1 HUB, DRIVE SIDE DRG
8 H0067 8 HUB, PLANETARY GEAR 951
9 NUT131 24 NUT, 10-24 SS 18-8 HEX
10 G0103 8 GEAR, PLANETARY(5) 6 DIA PITCH
11 FT0366 8 RETAINING RING, PLANETARY GEAR
12 RO0027 1 ROTOR, 23" DIA. ACTIVE DRG40
13 FT0367 8 SHIM, PLANETARY GEAR DR34
14 WSH256 8 WASHER, THRUST .765ID X 1.250D
15 WSH257 8 WASHER, THRUST .765ID X 1.250D

17



Gas Rotisserie Oven

Replacement Parts

T e

(&}

Figure 6. Single Passive Rotor (AB44015500)

e

o L
J ! -@@ 4}!1 i
| e
E ; I
L o
&)
Table 6. Single Passive Rotor (AB44015500) Parts
ITEM # PART # QTY DESCRIPTION

1 RO0028 1 ROTOR, 23" DIA. PASSIVE DRG40

2 SCR384 2 SCREW, 5/16-18 X 1/2 HEX CAP

3 WSH260 2 WASHER, 5/16 S/S LOCKWASHER

4 H0105 1 HUB, PASSIVE SINGLE

18




Gas Rotisserie Oven

Replacement Parts

Figure 7. Jackshaft (AB44107500)

&
4
Table 7. Jackshaft (AB44107500) Parts
ITEM # PART # QTY DESCRIPTION
1 B0239 2 BEARING, FCJ16F20-8
2 FT0424 2 CLAMP COLLAR C12L14 1X1.75X.5
3 PN44113800 1 JACKSHAFT MOUNT PAINTED DRG-40
4 SH0104 1 SHAFT, ROTOR MOTOR DRIVE
5 WSH253 2 WASHER, THRUST 1.025X2 PER PRINT

19




Gas Rotisserie Oven Replacement Parts

Figure 8. Drive Side Door (AB44107800)

20



Gas Rotisserie Oven

Replacement Parts

Table 8. Drive Side Door (AB44107800) Parts

ITEM # PART # QTY DESCRIPTION
1 WSH266 2 WASHER, 1/4" FLAT S/S
2 SCR060 2 SCREW, 1/4-20 X 1 HEX CAP
3 BLT252 5 BOLT, 5/16-1 SLTD TRUSS
4 F0136 6 THREAD INSERT 10-24 STEEL HEX
5 BLT250 3 BOLT, 5/16-18 X 3/4 S/S CARRIAGE
6 FB44108803 1 DOOR GLASS LOCK DRG-40
7 MA44109000 1 GLASS TRIM, OUTER DOOR DRG-40
8 MA44109100 1 GLASS TRIM, INNER DOOR DRG-40
9 GL0272 1 GLASS, 25 X 21.625 TEMP
10 GL0271M 1 GLASS, MATRIX RH 32 X 20.188
11 FB44108002 1 INNER DOOR SUPPORT DR.SIDE DRG40
12 WSH044 2 WASHER, 1/4 LOCK ZINC PLTD
13 WSH260 6 WASHER, 5/16 S/S LOCKWASHER
14 NUT132 1 NUT, 10-24 SS 18-8 HEX CAP
15 NUTO054 6 NUT, 5/16-18 HEX
16 HO131 1 HANDLE, TUBULAR S/S P47-1012
17 SCR383 1 SCREW, 10-24 X 1/2" PHIL TRUSS HD
18 SP0022 1 SPACER, DELRIN .375ID X 1" OD
19 SP0041 6 SPACER, PTFE-DOOR GLASS
20 FA44108900 12 WASHER, PTFE DRG-40
21 F0086 2 THREAD INSERT 5/16-18 STEEL
22 WSH258 6 WASHER, FENDER 5/16 X 1 1/2
23 WB44107900 1 DOOR SUPPORT WELD. DRG-40

21



Gas Rotisserie Oven Replacement Parts

Figure 9. Passive Side Door (AB44108300)

22



Gas Rotisserie Oven

Replacement Parts

Table 9. Passive Side Door (AB44108300) Parts

ITEM # PART # QTY DESCRIPTION
1 WSH266 2 WASHER, 1/4" FLAT S/S
2 SCR060 2 SCREW, 1/4-20 X 1 HEX CAP
3 BLT252 5 BOLT, 5/16-1 SLTD TRUSS
4 F0136 6 THREAD INSERT 10-24 STEEL HEX
5 BLT250 3 BOLT, 5/16-18 X 3/4 S/S CARRIAGE
6 FB44108803 1 DOOR GLASS LOCK DRG-40
7 MA44109000 1 GLASS TRIM, OUTER DOOR DRG-40
8 MA44109100 1 GLASS TRIM, INNER DOOR DRG-40
9 GL0272 1 GLASS, 25 X 21.625 TEMP
10 GL0270M 1 GLASS, MATRIX LH 32 X 20.188
11 FB44108502 1 INNER DR.SUPPORT PASS.SIDE DRG40
12 WSH044 2 WASHER, 1/4 LOCK ZINC PLTD
13 WSH260 6 WASHER, 5/16 S/S LOCKWASHER
14 NUT132 1 NUT, 10-24 SS 18-8 HEX CAP
15 NUTO054 6 NUT, 5/16-18 HEX
16 HO131 1 HANDLE, TUBULAR S/S P47-1012
17 SCR383 1 SCREW, 10-24 X 1/2" PHIL TRUSS HD
18 SP0022 1 SPACER, DELRIN .375ID X 1" OD
19 SP0041 6 SPACER, PTFE -DOOR GLASS
20 FA44108900 12 WASHER, PTFE DRG-40
21 F0086 2 THREAD INSERT 5/16-18 STEEL
22 WSH258 6 WASHER, FENDER 5/16 X 1 1/2
23 WB44107900 1 DOOR SUPPORT WELD. DRG-40

23



Gas Rotisserie Oven

Replacement Parts

Figure 10. Water Pipe (AN44013500)

Table 10. Water Pipe (AN44013500) Parts

ITEM # PART # QTY DESCRIPTION
1 FT0272 2 ELBOW, STREET, 90° /2" NPT, SS
2 FT0470 1 CONNECTOR, HOSE 3/4" X 1/2"NPT
3 SCR138 2 SCREW, 10 X 1/2 PHIL TR HD
4 SV0010 1 VALVE, SOLENOID 120/60

24




Gas Rotisserie Oven Replacement Parts

Accessories & Components

Description ‘ Part # Figure # Item #
Accessories
BASKET, MEAT LARGE CLAMSHELL (FOR DUAL SHAFT) MBO0015 Figure 11 1
BASKET, MEAT LARGE CLAMSHELL (FOR SINGLE SHAFT) MB0021
BASKET, MEAT SM CLAMSHELL (FOR DUAL SHAFT) MBO0011 Figure 11 2
BASKET, MEAT SM CLAMSHELL (FOR SINGLE SHAFT) MB0020
VEE SPIT 2 BIRD DRG (FOR DUAL SHAFT) MF0031 Figure 11 3
VEE SPIT 3 BIRD DRG (FOR DUAL SHAFT) MF0021
VEE SPIT 6 BIRD DRG (FOR SINGLE SHAFT) MF0028
INSULATED MITT 13" G0052 Figure 11 4
HOSE, 60" GAS CONNECTOR W/ RESTRAINT (FT0279) HO0136 Figure 11 5
RESTRAINT (ONLY) FT0279 Figure 11 6
PERMATEX INDUST. SUPERLUBE L0200 Figure 11 7
Components
LOG, SPLIT BRANCH 9-1/2" (3) L0500 Figure 11 8
CASTER 5"1/2-13 X 3/4 STUD LOCK C0425 Figure 11 9
VALVE, GAS VR8205A2123 C0739 Figure 11 10
DIRECT SPARK IGNITION C0740 Figure 11 11
IGN.PROBE, LOWER BURNER DRG-40 MB44115500 Figure 11 12
IGN.PROBE, UPPER BURNER DRG-40 MB44115400 Figure 11 13
MOTOR, 110-120/220-240 .94/.55 AMP M0087 Figure 11 14
CHAIN, #40 ROLLER 106 PITCHES CHO0014 Figure 11 15
LAMPHOLDER W/BULB 12V 20W (OSRAM) LH0024 Figure 11 16
DUAL REMOVABLE SHAFT AB44106600 Figure 11 17
ROTOR, CENTER DRG (For Dual Rotor Configuration) RO0031 Figure 11 18
SHAFT ASSY, SGL REMOV DRG AB44015000 Figure 11 19
Figure 11. Accessories & Components

— N . B

25



Gas Rotisserie Oven Replacement Parts

19

26



Gas Rotisserie Oven

Wiring Diagrams

Wiring Diagrams

L1

=z

G

~|
=z
N
O%O
-2 g
g3
T
e
N m
ZCEIQL_’)_
a
w
%t
.
. O
2
g
g

154
1FU 2FU R0
@
POWER #50304
***** 1SS #s0307
ol ®
® WAT§§B FILL
@ . ® @
#50340 Ll 10
LIGHTS #0307 sV #Sv0010 5
® @
430304 T S 120/240V PRI 20/10V SEC
#50307 L ey 1R 175VA #TF0045
PR ®© % © g ©
1T LT 3T LAMPS
® ® %éxésztsgw (14We10V)
WO astt O @st
@ @
[Fol) e ERG3E" >>
— |
#50361
wn1TC | TEMPERATURE CONTROL
folo B 20-28VAC
25 #SB5241S
#50361
4 HEAT HE LMIT
@255 @ T ® ®
’ o 120V/24V, 39VA
(oo grooos (1) soue JERUEE
UPPER BURNER SPARK MODULES
® #co740 #%?740
SURGE SUPPRESSOR =1S] 24V il 10V
4AN44116100 S =25] @ 24V
B5w L o ¥ Yl #corao
T e
LOWER ] @ T @
FLAME —
e 18] 1FS
4 29I 2FS
§§8§8§ ® #MB44115400
7 | #mBaa115400
SURGE SUPPRESSOR (‘% 2315 | ® Y
#AN44116100 E =3 I 4cor3o
LOWER BURNER ©|B T ® @ SO NEDOR:
| - 370 VAC
SPAR:COr\gSODULE 328,445
24V 3sI 3FS
L #MB44115500
1A
ROTOR JOG #Cfggss
458 1PB
@ @ L @ '
O] l L@
#50304 #50309
450333 #S0308 1Tk ROTOR DRIVE
MOTOR

94A@120V
#M0087

BREAKER SIZE
5

KILOWATTS
221

AMPS.
1.84

No. OF WIRES

PHASE
1

VOLTAGE
120

MODEL No.
DRG-40

DATE
4-23-04

[APPROVED BY
LRL

27



Gas Rotisserie Oven Wiring Diagrams

DRAWING No.

S B 441900

)
B Hﬁ 2 of 4
TYPElSIZEl

06-013

REV. No.

BREAKER SIZE
15

KILOWATTS
221

AMPS
1.84

No. OF WIRES

PHASE
1

VOLTAGE
20

MODEL No
DRG-40

DATE
4-23-04

LRL

APPROVED BY

28



iring Diagrams

sserie Oven

(]

Gas Rot

006l%7 8 S £10-90 Gl 12z 9’1 z ! 0zl 0v-94a $0-C2-%|
‘ON ONIMVYQ _uN,m_mn_C ON A EVANREN M) SLIVMOTIM 'SV S3¥IM 40 ‘ON 3SYHd J9VII0A ‘ON 300N 31va A8 03AQYdJY|
R4
@
= /
W 9= 7
; = ‘o 2O
—@&

21,

17C

Lo
23]

®OH

1SS

288

O
6

®

@
2

29



Wiring Diagrams

sserie Oven

(]

Gas Rot

006157 8 S
'ON INIMVHQ  [3ZIS|3dAL

£10-90
ON_A3Y

Gl Lee
371S ¥3vIug SLIYMOTIN

¥8'l
“SdWY

[4
S3YM 40 "ON

3SVHd

0c¢l
39VL10A

0¥-940
"ON_ 300N

¥0-¢C-¥
iva

1
A8 3A0¥ddY

¥ 0¥ @\NQM&@

]

o =

30



Gas Rotisserie Oven Appendix A

Appendix A

Gas Control Valve Instructions

31



Gas Rotisserie Oven Notes

Notes

32



Gas Rotisserie Oven Notes

33



2812 Grandview Dr., Simpsonville, S.C. 29680, USA
http://lwww.bkideas.com

Made and printed in the U.S.A
L10209/0807

CS-TM-022.01 Revised 3/26/13



Gas Rotisserie Oven

REVISION HISTORY

REVISION

DATE

REVISED BY

01

03/26/13

DESCRIPTION

KW

Initial Release-Supersedes all previous

releases

Notes



